105-2 Bl P HEMBHA FFapsEiE

.
i

|
@ (EES)

HEN 2016-5-7 22:.26 AEHES

[E1{8 8# csihcs IR+
HEZ1E
ENEEHESTENAE
W =n (mod 10)

4P =4+5+6+7+9 +11°
W =4+5+6+7+9+11 =2 (mod10)
P’ <6x11’ <2 x11°
4 <n<22
n=12
HHH
2. B
%
(A) (cos®25° —sin?25°%) = cos50° =sin 40° #
(B) +1+sin 340° —+/1—sin 340° = 1—sin 20° —/1+sin 20° = v1—cos70° —+/1+ cos 70°
= J1-(1-2sin?35%) — 1+ (2c0s? 35° —1) =+~/2sin235° —+/2cos? 35°
= /2(sin 35° — c0535°) =~/2(c0s55° — c0535°) = +/2(~2sin 45° sin 10°) = —2sin 10° #
(C) sin 23° cos112° —sin 292° sin 67° = —sin 23° cos68° + cos 22° sin 67°
=—c0s67°sin 22° +c0s22°sin 67° =sim B ###
0
(D) 2BNOTS _an13s0 4
1-tan67.5
3. B
B

(1) t?+1-84=7-t 2 t?+t-90=0 oo t=-10,t=9(x) #H#
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(1) V2016 =/x +,[y 2 1214 =Jx+.[y ® (xy)=(1411414),,,(5\14,714) ##

(6]
0

0
i

R
+rd

) )?ﬁf(x):(%xz—bx2+%x2)+... = %—b+%¢0 2 a+c=2b

= a+c=2bF 184 = P(a+c¢2b)=1—£:£ HitH
216 12

D
0

0
i

i

Lo

%
© —4
FT3—>3

—>3

©F¢

(1) 3+4+3+3)x3+4x3=51 #i#
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(*) x*-4ax+4a*-4a-3b+9=0

a+ f=4a
(1) Jaf=4a*-4a-3b+9
a— f=24101

(2 (a+pB)?*=16a" 2 (a-pB)* +4af=16a°> = 404+ 4(4a” —4a—3b+9)=16a°
a=110+3t
= 440=16a+12b = 4a+3b=110 =» {b— 110 — 4t 2 —36.XX<t <—27.XX

=2 t=-28-29,..,-36 ###
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(*) F(x)=3x*>—x*—2x=x(x-D(3x+2)
(A) f'(X)=9x*-2x-2 & m=f'(1)=5 2 y=5x-1) #

|/
Y

,
B) ||5(B8x—x*-2x)dx|=— #
(B) |[5(3x—x* = 2x)dx =

(C) f"(x)=18x-2 & x== o c(&, =20

) #
9 9 243

(D) WNE #
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11. EEB
(*) f(X)=x>-2px* +x*-3px® +x-2
(A) f(1)=1-2p+1-3p+1-2=1-5p=0 > RiFfEpeZ #

B) f(-)=-1-2p-1-3p-1-2=-5-5p=0 2 p=-1
2 f(-2)=-32+32-8+12-2-2=0 #
©) f(-)=-1-2p-1-3p-1-2=-5-5p=#0 » p=-1

2 BEf(X) FIAUEERT (x+1) ~ (x-1)  (x+2) * (x-2)BEALZ2AR - #

D) &Hx+)’ 2R o x+)2ARX = p=-1

D) =X +2x" + X3 +3x* +x-2=(X+D)(x* + x> +3x-2) #

12. BERE
iz
4 -3 4-1 -3 , ,
(A) A= > =0 2 2P-31+2=0 = A’-3A+21=0 #
2 -1 2 -1-2
(B) A*—7A®+10A? -8A+3l =(A? —=3A+21)(A* —4A+41)-12A+112I
-37 36
=—-12A+1121 =
-24 23

13 -2 3
() P=L 2} > P*:{1 J > A=PBP*
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1 31 o0]-2 3
D) A =(PBP )% =pPBYP!= #
(®) ( ) [1 2}{0 2“’}[ 1 —J

1. EHF

JH
*)

AF, - AF, =2a=6 i — -
Qo > ! = AF,+BF,-AF, —BF, =12 = AF,+BF,-15=12
BF, —-BF, =2a=6

= AF,+BF2=27 © AF,+BF,+AB=27+15=42 #i#

2. 7L

(1) £ A(-3,2,2) * B(-54,3) * P(x,y,0) - &l

JX+3)2 +(y=2)? +4+J(x+5)° +(y—4)> +9 = AP+BP #



A(=3,2,2) B(-5,4,3)

@) K322 = min{ AP+ BP}=BA' =33 ###
A5 3 19 14
(3) “BP=tBA' & P:{-2t+4 o t=¢ ® P 0) ##
-5t+3=0
3. HF
2
5x+2y-20=0
B(2,5)
A(-31
C(4,0)
axZ5y+17=0 ¥x+7y—4:0
* f(xy)=ax-y
f(A)=-3a-1 a<0
(A) 4a-1<-3a-1 5
W) fB)=2a-5 o ~ o P, 5 as— #
1< — as——
f(C)=ga-1  *ATI=22 2
4. 3BR
7



a, =2
*
ang = 2an -1

a,-1=2(a, -1)

a,—-1=2(a, -1

(1) a,,=2a,-1= (a,,-Y)=2>@a,-1) =

n+1
a,—-1=2(a,, 1)
= n=11 ###

5. EHF

VefEEH =14

@ 4 a2 ] =57

3) 2{EH4M,%DH o 4 7

@6 ] =17

6. IH7T
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- ZPBA=0 - #PBC=p ' EFE2EEa
Ly mmma 8 mBgs P2+22-12 2+3
EHIBHE COS(} = ——————— =
2xax2 4a

z
. @+22-3% 4-5
sinoy=cosff = =

2 a, =2""+1>1000
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a
P
/-a 'a
2
B C
b /=D
a’?+h?=1

(1) (t-a)’+b*=4 > 2Q-Q@ [¢*-2ar=3 N 0?2 _3=2a/
({-a)* +(£-b)* =9 ®)-(2)[¢* -2p0=5 1* —5=2b¢

> (17 -3+ (2 -5) =4r*(a" +b7) B (£ -3+ (17 -5)" =4/"

D (4-1002+17=0 o (2> =5+2{2 (BXE)##

7. HFT




1
2

1+ X 2—X 1+Xx 2—X \/€+\/§(1

@ sin 45°  sin 75° ” /]/\/E:\/EJ”/E% i 4 ) (2=%)

3-43
D X= =2—\/§ #
3+4/3

(2)  ABPQ - %(ﬁ)(s _/3)sin 60° = %(3— J3) #h#

8. HEHTE
Bz
|4x;7y|+|5x22y|:1
28 —-16 -6 15
1) f## AXx+7y=0 2 A=(—,—)  B=(—,—)-~C-D
L) & y G727 G727
5x+2y=0
28 -16
Mz lls
(2) ABCD@E_ME__6 E =3 HiHH
27 27
9. IEF
iz

1 2 1 0 |0 2
Q) = + =1+B
3 2 0 1| |3 1
, |0 2|0 2 6 2 6 0| |0 2
2) B = = = + =6l+B #
3 113 1 3 7 0 6/ |3 1
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1 2]
3 L 2} =(1+B)°’=1°+5B+10B* +10B° +5B* + B® = 4091 +205B #

(4) A—[l Zﬂl 2 3}—(409“2053){1
|3 2|3 2 1] 3

3 1
= 4091

12 3 12 3
= 409 + 205B
L’ 2 J [3 2 J

3 1 2 3
+ 205B
J {3 2 J

(5)  JTHEFI = 409(6 + 6) + 205(2x 6+ 3x 6 +1x 6) =12288 ###

10. E#R

©7)

OP AP OP _sin
@) X AP PGy
sing siné@ AP sinéd
2 sinQ:@ \ cosg—£ = sin = 2sin —
2 85 2 85 2°

(*)O_P sing __sing

_85sing 85

AP sing 2‘/75(V T 2750 24750

1. 58
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BOO)| P@O) P(i0) Pali+10) C(00)

— n \/_n n \/_n
(1) AB-AP, =(= )(—— ——) (= )( ————)

— — n \/_n n \/_I’l
(2) AR AR, =(= )( ————) ( )( —5——)

V3n,, /3n

(3) S, =AB-AP + AP - AP, +..+ AP, - AC_(—)Z[(l——)(|+1——)+(——)(——)]

2

- (n—lz)g[i(i +1)—g(2i +1)+“7:+¥] - (n—lz)g[(i2 +i)—2(2l +1)+“7:+3%]

— (iz)[(n_l)(n)(zn_l) + (n_l)(n) _E((n_l)(n)+n)+n3]
n 6 2 2
(4) lim =2 >, —3+0—1+1=§ HitH
noen? 6 2 6
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